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PART A: Grammar and Vocabulary ehse of Appreciation
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct Voeos
choice on your answer sheet. Y dxiio U Y- dxiio
. .. | (oSN
61-The young researcher puts a heavy emphasis on non—verbal communication, as he | wonders of Creation
believes that people use ... when they communicate with each other in social Y ouos
situations. 74 i G EY axhio
1) more words than 2) words than more
3) more than words 4) words more than

62-Since the first artificial satellite, Sputnik 1, was launched by Russia in 1957, thousands of space
probes, satellites, and telescopes ... into space.
1) were sending 2) have sent
3) were sent 4) have been sent

63-She’s sung many Irish folk songs that her fans like very much since she started attending music
classes, ...?

1) didn’t she 2) isn’t she
3) hasn’t she 4) has she
64-The little girl was filled with emotion and ... burst into tears when she saw her father after about one
year.
1) religiously 2) suddenly
3) uncertainly 4) politely

65- It seems that it is only when problems are highlighted by the media that the Government takes any ...
solving them.

1) attention to 2) interest in
3) fight against 4) donation to
66-1It is a/an ... that all people are ready to try as hard as possible to become happy and successful.
1) fact 2) sign
3) quality 4) organ

67-Doctors, teachers, and people in other jobs have to follow a number of rules and values known as
professional ... .

1) inspirations 2) emotions

3) descriptions 4) ethics

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your
answer sheet.

Nowadays, many people pay for many things by credit cards. How safe is the plastic used to make these
cards? Until recently, most cards ...(68)... from a plastic called polyvinyl chloride (PVC). While PVC is
being produced, harmful chemicals are released into the atmosphere. ...(69)... chemicals released is dioxin,
which is known to cause cancer in humans. Another problem is, when a PVC card is thrown away, it is not
biodegradable—it does not “break down” and cannot be recycled.
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Now, there is an alternative to PVC cards. Greenpeace, the environmental organization and charity, has
«..(70)... an “Earth-friendly” credit card. Their card is composed of a biodegradable plastic that is made
with a plant-based ...(71)... . The card breaks down in around three months in a special soil called
compost—in this way, it is completely recycled. By contrast, a PVC card lasts for centuries. Greenpeace
hopes that many organizations will ...(72)... its example and issue cards that do not pollute the
environment.

68- 1) made 2) have made 3) are made 4) have been made
69- 1) The most dangerous 2) As dangerous as
3) More dangerous than 4) One of the most dangerous
70- 1) boosted 2) developed 3) regarded 4) founded
71- 1) material 2) strength 3) collection 4) instance
72- 1) respect 2) invent 3) follow 4) elicit

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

PASSAGE 1:
Hormones are everywhere in your body. Even right now, there are dozens of glands pumping them out into

your blood. From influencing your sleep to weight and bone health, these chemical messengers zip through
your body to tell your cells what to do. These compounds help you to breathe, prompt you to eat or stop
eating, and heal wounds.

Despite what you’ve heard, no hormone is inherently good or bad. The stress hormone, cortisol, helps you
maintain normal blood pressure and circulation but can also lead to “stress eating”; oestrogen protects
bones and keeps skin moist but can also lead to weight gain and even depression. Endocrinologist Dr.
Deena Adimoolam says these chemicals act as if they constantly chat with one another and other
compounds in the body to stay in balance.

Did you know that a tiny change in your hormones can have big consequences? “As with the oil in your
car, you want the right amount of each hormone,” says endocrinologist Dr. Victor Bernet. It’s that precise.
For instance, if thyroid-stimulating hormone (TSH) gets out of range, even by milliunits, memory, body
temperature and other functions can be altered. A change in cortisol levels can also lead to brain fog, which
is an inability to think clearly.

73- Which of the following best describes the way the information in paragraph 2 is presented?
1) A claim is made and then some examples are provided to prove it.
2) A particular event is mentioned and the reasons for its existence are given.
3) A problem is stated and then appropriate solutions are suggested.
4) A situation is described and then its main causes are discussed.

74-The underlined word “inherently” in paragraph 2 is closest in meaning to ... .

1) unexpectedly 2) unconditionally
3) necessarily 4) preferably
75- According to the passage, which hormone can influence our ability to remember past events?
1) Testosterone 2) Cortisol
3) Oestrogen 4) TSH
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76- Which of the following has been defined in the passage?

1) circulation (paragraph 2) 2) brain fog (paragraph 3)
3) depression (paragraph 2) 4) endocrinologist (paragraph 2)
PASSAGE 2:

Whether you’re traveling to the islands or the mountains of Thailand, you’re likely to spend at least one
night in its capital city on the way. Bangkok might be noisy and polluted, but it’s also an exciting city with
plenty of things to see. Why not make it a longer stay?

The Khao San Road was a famous traveler spot even before Leonardo DiCaprio’s character in the film
The Beach stayed there. But it’s noisy, not beautiful and not fun to visit at all. For something more
authentic, Phra Khanong offers an alternative place to stay, with its fantastic street markets where
Bangkok locals eat, work and live. It’s not as convenient for the main tourist sites, but it has a Skytrain
station, so you can be at the Grand Palace in 20 minutes.

Bangkok’s traffic can be a nightmare. Sure, you can easily take a taxi — if you want to spend hours stuck
in traffic jams — but there are two better ways to get around the city. To explore the temples and historical
sites, catch an express boat river taxi or a long-tail boat along the Chao Phraya river and the canals. For
the modern part of the city, the Skytrain is a fast, cheap way to travel from the river to the shopping malls

of Sukhumvit and the famous Chatuchak street market.

77- What does the passage mainly discuss?
1) The best time to visit Bangkok
2) Thailand’s tourist attraction
3) Thailand’s islands and mountains

4) A travel guide to Bangkok

78-The underlined word “it” in paragraph 2 refers to ... .
1) street market 2) Phra Khanong
3) Bangkok 4) main tourist site

79- According to the passage, it is TRUE that ... .
1) Khao San Road became a famous tourist attraction after Leonardo DiCaprio stayed there
2) Sukhumvit is located in the modern part of Bangkok
3) taking a taxi is much better than getting an express boat river taxi because it is easier

4) Bangkok is an exciting city located near the capital city of Thailand

80- Which of the following best expresses the author’s attitude towards Khao San Road?
1) Balanced 2) Surprised
3) Negative 4) Amused
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